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FEIERFERL (mol ) B RABMERL (mol kb) BEYORMEHER (mol k)

CHy | nCuHy | iGHy, | GgHy | nGHy | iCH, | GgHy | nGHy, | iC,H,
75EE | 0900] 0067] 0033] 0845 0107] 0048] 0862] 0105 0048
76 EHE | 0900| 0067| 0033] 0845 0107| 0048] 0862] 0105/ 0048
77E8 | 0900] 0067] 0033] 0844 0107] 0048] 0862] 0105/ 0048
78EE | 0900] 0067] 0033] 0844] 0107] 0048] 0862] 0105 0048
798 | 0900] 0067] 0033] 0844 0107] 0048] 0862 0105/ 0048
80EE | 0900 0067| 0033 o0844] 0107| 0048| 0862] 0105 0048
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REE (wth) BB (CyHy 7)) DURBUE (mol%)
FEIERFHRL (mol%) 90 80 70 60 50 40 30
95 93.1 943 945 94.6 94.7 94.7 94.8
90 86.2 88.5 89.0 89.2 894 89.5 89.5
85 794 82.8 83.5 83.9 84.1 84.2 84.3
80 72.8 771 78.0 785 78.8 79.0 79.1
fE-&39 FRLFEEICHS(TLFTERMER (CH,7) NoDER
R (wth) FEIERFHARL (CH, 77 MB D ZE R (mol%)
FEIBRFHAAL (mol%) 90 80 70 60 50 40 30
95 1.9 0.7 0.5 04 0.3 0.3 0.2
90 3.8 1.5 1.0 0.8 0.6 0.5 0.5
85 5.6 2.2 1.5 1.1 0.9 0.8 0.7
80 7.2 29 2.0 15 1.2 1.0 0.9
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